MICROECONOMIC PROBLEMS

HOMEWORK#1, 22nd of February 2005.

Problem 1 - Islands

There are three islands. On each of them four different products are manufactured: w, x, y, z. They all have one currency: the shells. Any trade between these islands is strictly prohibited. Imagine you are a smuggler. At the beginning you have a 100 shells – knowing the prices and the transportation costs (given in the brackets) plan a trip so that your profit was maximized by buying an selling any of the four products. You can start wherever you want, the endpoint of your journey is also left at your discretion but you only have five journeys. 













Income after five journeys = ........................shells

(1)





Island B 


3w + 1x + 7y + 3z = M





Island A 


10w + 3x + 8y + 6z = M
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Island C


4w + 6x + 3y + 3z = M





(20)
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Island D 


9w + 7x + 5y + 1z = M
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Island E 


9w + 4x + 5y + 4z = M








